coinbase

Transaction report for abhilash reddy

You can use this transaction report to inform your likely tax obligations. For US customers, Sells, Converts, and Rewards Income, and Coinbase Earn transactions are taxable events. For final tax obligations, please consult your tax advisor.

Date range	Filter	Customer
From: 2020-01-01T00:00:00Z	Type: all	abhilashreddy.sr@gmail.com
To: 2021-01-01T00:00:00Z	Asset: all	5a4ff9cda4593f03c0aa42ea

Timestamp	Transaction Type	Asset	Quantity Transacted	USD Spot Price at Transaction	Subtotal	Total (inclusive of fees)	Notes
2020-02- 23T04:27:38Z	Convert	ВТС	0.00954408	9898.28	\$92.63	\$94.47	Converted 0.00954408 BTC to 323.4338464 ZRX
2020-08- 04T20:10:43Z	Convert	ВТС	0.0434687	11260.98	\$479.91	\$489.50	Converted 0.0434687 BTC to 50.49679295 LINK
2020-12- 24T01:03:33Z	Convert	ВТС	0.0041879	22990.04	\$93.90	\$96.28	Converted 0.0041879 BTC to 492.42481151 BAT
2020-11-05T20:27:112	Z Convert	ETH	0.4832844	413.84	\$184.83	\$200.00	Converted 0.4832844 ETH to 7,538.1980503 DNT
2020-12- 22T15:54:05Z	Convert	ETH	0.15897493	629.03	\$98.58	\$100.00	Converted 0.15897493 ETH to 0.0041879 BTC
2020-04- 30T14:13:15Z	Buy	ETC	149.49952889	6.59	\$985.32	\$1,000.00	Bought 149.49952889 ETC for \$1,000.00 USD
2020-07- 22T01:37:51Z	Convert	ETC	81.18201007	6.16	\$491.66	\$500.00	Converted 81.18201007 ETC to 1,407.360608 ALGO
2020-07- 29T22:09:34Z	Convert	ETC	68.31751882	7.36	\$491.65	\$502.92	Converted 68.31751882 ETC to 0.0434687 BTC
2020-02- 23T04:25:10Z	Convert	LTC	0.32860118	77.42	\$24.90	\$25.44	Converted 0.32860118 LTC to 86.89407798 ZRX

Timestamp	Transaction Type	Asset	Quantity Transacted	USD Spot Price at Transaction	Subtotal	Total (inclusive of fees)	Notes
2020-03- 12T18:41:40Z	Convert	ZRX	6016.07041572	0.190000	\$1,104.28	\$1,139.59	Converted 6,016.07041572 ZRX to 7,316.09029551 BAT
2020-04- 30T13:40:02Z	Sell	ZRX	23670.84380334	0.200000	\$4,734.45	\$4,663.91	Sold 23,670.84380334 ZRX for \$4,663.91 USD
2020-04- 30T14:08:51Z	Buy	ZRX	4813.39590141	0.204700	\$985.32	\$1,000.00	Bought 4,813.39590141 ZRX for \$1,000.00 USD
2020-06- 26T17:42:54Z	Convert	ZRX	2012.50124354	0.360000	\$702.82	\$718.15	Converted 2,012.50124354 ZRX to 482.32779468 OMG
2020-03- 01T19:05:06Z	Rewards Income	e USDC	2.53576	1.00	\$2.54	\$2.54	Received 2.53576 USDC from Coinbase Rewards
2020-03- 01T21:39:54Z	Convert	USDC	1500.0	1.00	\$1,471.71	\$1,500.00	Converted 1,500.0000 USDC to 7,089.60440873 BAT
2020-03- 01T21:40:31Z	Convert	USDC	1246.61	1.00	\$1,223.77	\$1,246.61	Converted 1,246.6100 USDC to 5,422.32756487 ZRX
2020-04- 01T22:40:13Z	Rewards Income	e USDC	0.084377	1.00	\$0.08	\$0.08	Received 0.084377 USDC from Coinbase Rewards
2020-03- 27T20:23:53Z	Convert	BAT	25740.06943973	0.150000	\$3,685.34	\$3,763.94	Converted 25,740.06943973 BAT to 23,670.84380334 ZRX
2020-02- 02T13:07:51Z	Convert	LINK	175.70402378	2.86	\$491.78	\$503.39	Converted 175.70402378 LINK to 2,175.18291439 BAT
2020-11-21T19:49:29Z	Convert	OMG	24.78929103	4.03	\$97.94	\$100.00	Converted 24.78929103 OMG to 17.137555 ATOM
2020-07- 13T20:55:23Z	Convert	DAI	492.76692075	1.01	\$487.89	\$500.14	Converted 492.76692075 DAI to 315.34563335 KNC
2020-07- 13T20:57:54Z	Convert	DAI	463.12940273	1.01	\$460.15	\$469.95	Converted 463.12940273 DAI to 2.76775958 COMP

Timestamp	Transaction Type	Asset	Quantity Transacted	USD Spot Price at Transaction	Subtotal	Total (inclusive of fees)	Notes
2020-02- 23T04:25:31Z	Convert	ZEC	0.05882355	63.07	\$3.63	\$3.71	Converted 0.05882355 ZEC to 12.673673 ZRX
2020-02- 23T04:26:31Z	Convert	XRP	114.289951	0.280000	\$31.39	\$32.05	Converted 114.289951 XRP to 109.60972519 ZRX
2020-05- 08T15:46:18Z	Buy	XRP	2987.175184	0.219000	\$654.16	\$663.91	Bought 2,987.175184 XRP for \$663.91 USD
2020-02- 23T04:26:00Z	Convert	XLM	249.4645024	0.070000	\$17.52	\$17.88	Converted 249.4645024 XLM to 61.13152828 ZRX
2020-02- 02T20:41:58Z	Convert	EOS	656.5599	4.28	\$2,744.08	\$ \$2,808.76	Converted 656.5599 EOS to 2,744.078498 USDC
2020-04- 30T14:10:04Z	Buy	XTZ	345.205419	2.85	\$985.32	\$1,000.00	Bought 345.205419 XTZ for \$1,000.00 USD
2020-06- 13T01:22:16Z	Rewards Incom	ne XTZ	0.157055	2.64	\$0.41	\$0.41	Received 0.157055 XTZ from Coinbase Rewards
2020-06- 15T20:41:50Z	Rewards Incom	ne XTZ	0.147472	2.66	\$0.39	\$0.39	Received 0.147472 XTZ from Coinbase Rewards
2020-06- 18T21:54:44Z	Rewards Incom	ne XTZ	0.151954	2.68	\$0.41	\$0.41	Received 0.151954 XTZ from Coinbase Rewards
2020-06- 19T23:26:10Z	Rewards Incom	ne XTZ	0.148179	2.63	\$0.39	\$0.39	Received 0.148179 XTZ from Coinbase Rewards
2020-06- 22T23:11:04Z	Rewards Incom	ne XTZ	0.149507	2.68	\$0.40	\$0.40	Received 0.149507 XTZ from Coinbase Rewards
2020-06- 25T21:46:20Z	Rewards Incom	ne XTZ	0.149643	2.61	\$0.39	\$0.39	Received 0.149643 XTZ from Coinbase Rewards
2020-06- 28T23:15:13Z	Rewards Incom	ne XTZ	0.14396	2.36	\$0.34	\$0.34	Received 0.14396 XTZ from Coinbase Rewards

Timestamp	Transaction Type	Asset	Quantity Transacted	USD Spot Price at Transaction	Subtotal	Total (inclusive of fees)	Notes
2020-07- 01T23:36:15Z	Rewards Income	XTZ	0.125922	2.40	\$0.30	\$0.30	Received 0.125922 XTZ from Coinbase Rewards
2020-07- 05T05:35:42Z	Rewards Income	XTZ	0.121779	2.29	\$0.28	\$0.28	Received 0.121779 XTZ from Coinbase Rewards
2020-07- 07T06:06:55Z	Rewards Income	XTZ	0.131567	2.45	\$0.32	\$0.32	Received 0.131567 XTZ from Coinbase Rewards
2020-07- 09T22:27:06Z	Rewards Income	XTZ	0.122877	2.50	\$0.31	\$0.31	Received 0.122877 XTZ from Coinbase Rewards
2020-07- 12T23:02:25Z	Rewards Income	XTZ	0.124366	2.83	\$0.35	\$0.35	Received 0.124366 XTZ from Coinbase Rewards
2020-07- 13T19:29:27Z	Convert	XTZ	173.855596	2.88	\$482.13	\$500.00	Converted 173.855596 XTZ to 474.32024373 DAI
2020-07-15T21:21:11Z	Rewards Income	XTZ	0.124481	3.09	\$0.38	\$0.38	Received 0.124481 XTZ from Coinbase Rewards
2020-07-18T19:47:31	Z Rewards Income 2	XTZ	0.126524	3.07	\$0.39	\$0.39	Received 0.126524 XTZ from Coinbase Rewards
2020-07- 22T00:15:59Z	Rewards Income	XTZ	0.127503	3.01	\$0.38	\$0.38	Received 0.127503 XTZ from Coinbase Rewards
2020-07- 24T19:32:17Z	Rewards Income	XTZ	0.117945	3.13	\$0.37	\$0.37	Received 0.117945 XTZ from Coinbase Rewards
2020-07- 26T20:07:23Z	Rewards Income	XTZ	0.126389	2.98	\$0.38	\$0.38	Received 0.126389 XTZ from Coinbase Rewards
2020-07- 29T21:01:42Z	Rewards Income	XTZ	0.115117	2.81	\$0.32	\$0.32	Received 0.115117 XTZ from Coinbase Rewards
2020-08- 02T03:54:23Z	Rewards Income	XTZ	0.116832	3.13	\$0.37	\$0.37	Received 0.116832 XTZ from Coinbase Rewards

Timestamp	Transaction Type	Asset	Quantity Transacted	USD Spot Price at Transaction	Subtotal	Total (inclusive of fees)	Notes
2020-08- 04T19:25:11Z	Rewards Income	XTZ	0.121885	3.23	\$0.39	\$0.39	Received 0.121885 XTZ from Coinbase Rewards
2020-08- 07T20:45:49Z	Rewards Income	XTZ	0.125773	3.11	\$0.39	\$0.39	Received 0.125773 XTZ from Coinbase Rewards
2020-08- 10T20:14:23Z	Rewards Income	XTZ	0.124931	4.09	\$0.51	\$0.51	Received 0.124931 XTZ from Coinbase Rewards
2020-08- 13T19:48:53Z	Rewards Income	XTZ	0.126096	4.28	\$0.54	\$0.54	Received 0.126096 XTZ from Coinbase Rewards
2020-08- 15T19:34:40Z	Rewards Income	XTZ	0.120333	4.16	\$0.50	\$0.50	Received 0.120333 XTZ from Coinbase Rewards
2020-08- 23T00:07:48Z	Rewards Income	XTZ	0.119936	3.61	\$0.43	\$0.43	Received 0.119936 XTZ from Coinbase Rewards
2020-08- 23T00:19:11Z	Rewards Income	XTZ	0.124063	3.58	\$0.44	\$0.44	Received 0.124063 XTZ from Coinbase Rewards
2020-08- 24T20:02:46Z	Rewards Income	XTZ	0.060168	3.70	\$0.22	\$0.22	Received 0.060168 XTZ from Coinbase Rewards
2020-08- 27T19:04:20Z	Rewards Income	XTZ	0.059802	3.19	\$0.19	\$0.19	Received 0.059802 XTZ from Coinbase Rewards
2020-08- 30T20:35:47Z	Rewards Income	XTZ	0.061138	3.39	\$0.21	\$0.21	Received 0.061138 XTZ from Coinbase Rewards
2020-09- 02T19:47:09Z	Rewards Income	XTZ	0.063661	3.11	\$0.20	\$0.20	Received 0.063661 XTZ from Coinbase Rewards
2020-09- 05T19:10:44Z	Rewards Income	XTZ	0.061644	2.42	\$0.15	\$0.15	Received 0.061644 XTZ from Coinbase Rewards
2020-09- 07T19:40:42Z	Rewards Income	XTZ	0.061368	2.48	\$0.15	\$0.15	Received 0.061368 XTZ from Coinbase Rewards

Timestamp	Transaction A Type	Asset	Quantity Transacted	USD Spot Price at Transaction	Subtotal	Total (inclusive of fees)	Notes
2020-09- 10T20:58:10Z	Rewards Income X	XTZ	0.06066	2.57	\$0.16	\$0.16	Received 0.06066 XTZ from Coinbase Rewards
2020-09- 11T19:03:01Z	Rewards Income >	XTZ	0.05824	2.53	\$0.15	\$0.15	Received 0.05824 XTZ from Coinbase Rewards
2020-09- 13T20:28:40Z	Rewards Income X	XTZ	0.063884	2.58	\$0.16	\$0.16	Received 0.063884 XTZ from Coinbase Rewards
2020-09- 16T20:23:25Z	Rewards Income X	XTZ	0.06338	2.45	\$0.16	\$0.16	Received 0.06338 XTZ from Coinbase Rewards
2020-09- 19T20:40:13Z	Rewards Income X	XTZ	0.058204	2.32	\$0.14	\$0.14	Received 0.058204 XTZ from Coinbase Rewards
2020-09- 22T19:47:38Z	Rewards Income X	XTZ	0.060974	2.15	\$0.13	\$0.13	Received 0.060974 XTZ from Coinbase Rewards
2020-09- 25T20:10:27Z	Rewards Income X	XTZ	0.06059	2.23	\$0.14	\$0.14	Received 0.06059 XTZ from Coinbase Rewards
2020-09- 28T20:43:25Z	Rewards Income X	XTZ	0.060654	2.29	\$0.14	\$0.14	Received 0.060654 XTZ from Coinbase Rewards
2020-09- 30T19:43:04Z	Rewards Income X	XTZ	0.061744	2.19	\$0.14	\$0.14	Received 0.061744 XTZ from Coinbase Rewards
2020-10- 03T19:53:10Z	Rewards Income X	XTZ	0.061213	2.14	\$0.13	\$0.13	Received 0.061213 XTZ from Coinbase Rewards
2020-10- 06T20:28:45Z	Rewards Income X	XTZ	0.062359	2.11	\$0.13	\$0.13	Received 0.062359 XTZ from Coinbase Rewards
2020-10- 12T21:00:24Z	Rewards Income X	XTZ	0.060635	2.34	\$0.14	\$0.14	Received 0.060635 XTZ from Coinbase Rewards
2020-10-15T20:17:11Z	Rewards Income X	XTZ	0.062453	2.25	\$0.14	\$0.14	Received 0.062453 XTZ from Coinbase Rewards

Timestamp	Transaction Type	Asset	Quantity Transacted	USD Spot Price at Transaction	Subtotal	Total (inclusive of fees)	Notes
2020-10-19T17:43:102	Z Rewards Income	e XTZ	0.064444	2.21	\$0.14	\$0.14	Received 0.064444 XTZ from Coinbase Rewards
2020-10- 20T19:52:37Z	Rewards Income	e XTZ	0.062422	2.08	\$0.13	\$0.13	Received 0.062422 XTZ from Coinbase Rewards
2020-10- 23T20:01:30Z	Rewards Income	e XTZ	0.06155	2.20	\$0.14	\$0.14	Received 0.06155 XTZ from Coinbase Rewards
2020-10- 26T20:30:16Z	Rewards Income	e XTZ	0.062233	2.09	\$0.13	\$0.13	Received 0.062233 XTZ from Coinbase Rewards
2020-10- 29T20:23:14Z	Rewards Income	e XTZ	0.06389	1.93	\$0.12	\$0.12	Received 0.06389 XTZ from Coinbase Rewards
2020-11-01T19:37:11Z	Rewards Income	e XTZ	0.063065	1.95	\$0.12	\$0.12	Received 0.063065 XTZ from Coinbase Rewards
2020-11- 04T20:23:50Z	Rewards Income	e XTZ	0.063752	1.87	\$0.12	\$0.12	Received 0.063752 XTZ from Coinbase Rewards
2020-11-07T19:58:242	Z Rewards Income	e XTZ	0.061917	1.97	\$0.12	\$0.12	Received 0.061917 XTZ from Coinbase Rewards
2020-11-10T19:31:41Z	Rewards Income	e XTZ	0.062392	2.14	\$0.13	\$0.13	Received 0.062392 XTZ from Coinbase Rewards
2020-11-12T20:07:452	Z Rewards Income	e XTZ	0.06426	2.07	\$0.13	\$0.13	Received 0.06426 XTZ from Coinbase Rewards
2020-11-15T19:22:22Z	Rewards Income	e XTZ	0.060409	2.02	\$0.12	\$0.12	Received 0.060409 XTZ from Coinbase Rewards
2020-11- 18T20:04:23Z	Rewards Income	e XTZ	0.062487	2.05	\$0.13	\$0.13	Received 0.062487 XTZ from Coinbase Rewards
2020-11-21T20:33:482	Z Rewards Income	e XTZ	0.062848	2.30	\$0.14	\$0.14	Received 0.062848 XTZ from Coinbase Rewards

Timestamp	Transaction Type	Asset	Quantity Transacted	USD Spot Price at Transaction	Subtotal	Total (inclusive of fees)	Notes
2020-11-24T19:57:082	Z Rewards Income	e XTZ	0.065294	2.74	\$0.18	\$0.18	Received 0.065294 XTZ from Coinbase Rewards
2020-11-27T19:56:45Z	Z Rewards Income	e XTZ	0.061395	2.23	\$0.14	\$0.14	Received 0.061395 XTZ from Coinbase Rewards
2020-11- 30T19:29:58Z	Rewards Income	e XTZ	0.063497	2.48	\$0.16	\$0.16	Received 0.063497 XTZ from Coinbase Rewards
2020-12- 03T19:34:53Z	Rewards Income	e XTZ	0.060279	2.41	\$0.15	\$0.15	Received 0.060279 XTZ from Coinbase Rewards
2020-12- 06T19:59:03Z	Rewards Income	e XTZ	0.059161	2.31	\$0.14	\$0.14	Received 0.059161 XTZ from Coinbase Rewards
2020-12- 08T19:55:20Z	Rewards Income	e XTZ	0.058785	2.26	\$0.13	\$0.13	Received 0.058785 XTZ from Coinbase Rewards
2020-12-11T20:47:12Z	Rewards Income	e XTZ	0.059618	2.10	\$0.13	\$0.13	Received 0.059618 XTZ from Coinbase Rewards
2020-12- 14T20:28:30Z	Rewards Income	e XTZ	0.060976	2.22	\$0.14	\$0.14	Received 0.060976 XTZ from Coinbase Rewards
2020-12-17T19:10:02Z	Rewards Income	e XTZ	0.061612	2.36	\$0.15	\$0.15	Received 0.061612 XTZ from Coinbase Rewards
2020-12- 20T20:51:55Z	Rewards Income	e XTZ	0.062313	2.31	\$0.14	\$0.14	Received 0.062313 XTZ from Coinbase Rewards
2020-12-23T21:23:492	Z Rewards Income	e XTZ	0.062369	1.98	\$0.12	\$0.12	Received 0.062369 XTZ from Coinbase Rewards
2020-12- 26T22:50:27Z	Rewards Income	e XTZ	0.064018	1.98	\$0.13	\$0.13	Received 0.064018 XTZ from Coinbase Rewards
2020-12-28T19:15:55Z	Z Rewards Income	e XTZ	0.061734	2.15	\$0.13	\$0.13	Received 0.061734 XTZ from Coinbase Rewards

Timestamp	Transaction Type	Asset	Quantity Transacted	USD Spot Price at Transaction	Subtotal	Total (inclusive of fees)	Notes
2020-12- 31T22:44:43Z	Rewards Income	e XTZ	0.063649	2.00	\$0.13	\$0.13	Received 0.063649 XTZ from Coinbase Rewards
2020-12-19T18:54:51Z	Rewards Income	e ALGO	0.224688	0.370000	\$0.08	\$0.08	Received 0.224688 ALGO from Coinbase Rewards
2020-12- 20T21:13:00Z	Rewards Income	e ALGO	0.224695	0.360000	\$0.08	\$0.08	Received 0.224695 ALGO from Coinbase Rewards
2020-12-21T21:14:45Z	Rewards Income	e ALGO	0.224728	0.320000	\$0.07	\$0.07	Received 0.224728 ALGO from Coinbase Rewards
2020-12-22T19:34:11Z	Rewards Income	e ALGO	0.224763	0.340000	\$0.08	\$0.08	Received 0.224763 ALGO from Coinbase Rewards
2020-12- 23T20:20:41Z	Rewards Income	e ALGO	0.224802	0.320000	\$0.07	\$0.07	Received 0.224802 ALGO from Coinbase Rewards
2020-12- 24T22:39:50Z	Rewards Income	e ALGO	0.224837	0.310000	\$0.07	\$0.07	Received 0.224837 ALGO from Coinbase Rewards
2020-12-25T19:38:012	Z Rewards Income	e ALGO	0.224869	0.310000	\$0.07	\$0.07	Received 0.224869 ALGO from Coinbase Rewards
2020-12-26T21:16:55Z	Rewards Income	e ALGO	0.224909	0.310000	\$0.07	\$0.07	Received 0.224909 ALGO from Coinbase Rewards
2020-12- 27T19:40:24Z	Rewards Income	e ALGO	0.224943	0.330000	\$0.07	\$0.07	Received 0.224943 ALGO from Coinbase Rewards
2020-12- 28T20:26:59Z	Rewards Income	e ALGO	0.224981	0.350000	\$0.08	\$0.08	Received 0.224981 ALGO from Coinbase Rewards
2020-12- 29T22:42:37Z	Rewards Income	e ALGO	0.225016	0.350000	\$0.08	\$0.08	Received 0.225016 ALGO from Coinbase Rewards
2020-12- 30T21:53:25Z	Rewards Income	e ALGO	0.225048	0.330000	\$0.07	\$0.07	Received 0.225048 ALGO from Coinbase Rewards

Page 10/10

Timestamp	Transaction Type	Asset	Quantity Transacted	USD Spot Price at Transaction	Subtotal	Total (inclusive of fees)	Notes
2020-12-31T21:56:59Z	Z Rewards Income	e ALGO	0.225086	0.320000	\$0.07	\$0.07	Received 0.225086 ALGO from Coinbase Rewards
2020-12-03T20:12:14Z	Z Rewards Income	e ATOM	0.017258	5.57	\$0.10	\$0.10	Received 0.017258 ATOM from Coinbase Rewards
2020-12- 10T20:14:59Z	Rewards Income	e ATOM	0.017351	4.71	\$0.08	\$0.08	Received 0.017351 ATOM from Coinbase Rewards
2020-12- 21T00:42:49Z	Rewards Income	e ATOM	0.019365	5.08	\$0.10	\$0.10	Received 0.019365 ATOM from Coinbase Rewards
2020-03- 01T20:22:28Z	Coinbase Earn	ОХТ	17.65614655	0.220000	\$3.88	\$3.88	Received 17.65614655 OXT from Coinbase Earn
2020-03- 01T20:27:24Z	Coinbase Earn	ОХТ	17.61726492	0.230000	\$4.05	\$4.05	Received 17.61726492 OXT from Coinbase Earn
2020-03- 01T20:32:16Z	Coinbase Earn	ОХТ	17.12328767	0.230000	\$3.94	\$3.94	Received 17.12328767 OXT from Coinbase Earn
2020-04- 30T14:14:34Z	Buy	ОХТ	5332.04574951	0.184800	\$985.32	\$1,000.00	Bought 5,332.04574951 OXT for \$1,000.00 USD
2020-07- 13T19:30:04Z	Convert	ОХТ	2548.41997961	0.200000	\$489.51	\$500.00	Converted 2,548.41997961 OXT to 481.57607975 DAI
2020-08-15T20:11:12Z	Convert	OXT	1201.77863238	0.420000	\$464.33	\$500.00	Converted 1,201.77863238 OXT to 123.2796 EOS